
Multiplying Integers 

 
Continue the pattern to find the answers to the question on the right. 

 

1)  

€ 

3 × 3 =______ 
 

€ 

3 × 2 =______ 
 

€ 

3 ×1 =______ 
 

€ 

3 × 0 =______ 
 

So, 

€ 

3 × −1 =______, 
 

and 

€ 

3 × −2 =______, 
 

and 

€ 

3 × −3 =______. 

2)  

€ 

4 × 3 =______ 
 

€ 

4 × 2 =______ 
 

€ 

4 ×1 =______ 
 

€ 

4 × 0 =______ 
 

So, 

€ 

4 × −1 = ______, 
 

and 

€ 

4 × −2 = ______, 
 

and 

€ 

4 × −3 =______. 

3)  

€ 

−3 × 3 =______ 
 

€ 

−3 × 2 =______ 
 

€ 

−3 ×1 =______ 
 

€ 

−3 × 0 =______ 
 

So, 

€ 

−3 × −1 =______, 
 

and 

€ 

−3 × −2 =______, 
 

and 

€ 

−3 × −3 =______. 

4)  

€ 

−4 × 3 =______ 
 

€ 

−4 × 2 =______ 
 

€ 

−4 ×1 =______ 
 

€ 

−4 × 0 =______ 
 

So, 

€ 

−4 × −1 =______, 
 

and 

€ 

−4 × −2 =______, 
 

and 

€ 

−4 × −3 =______. 

 

Super-Tricky!  Is there anything that we can say about the product of a 
positive number and a negative number?  Is there anything that we can say 
about the product of two negative numbers? 


